I mA=IHZOP

1 2 3
SA9:00
WD 1R MD 1R MD 2R
19 B - A (FX) 3 % - Bh(AX) 45 B - BH (GIdX)
VS VS VS
20 Ha - FIGEEKX) 4 #ZFRE - LAGHEXR) 48 B - SR (REX)
MD 1R MD 2R MD 2R
9 #H - REEX) 13 $}AK - WA IHK) 17 ik - ZBEX)
VS VS VS
12 &l - MOGREX) 16 it - EEFEEKX) 20 A - RKIRGIEK)
NB10:00
MD 2R MD 2R MD 1R
37 BH - 5% (GIéX) 21 mE - BEECGREKX) 33 HE - BEEGIHX)
VS VS VS
40 Bk - ZH(FEREKX) 24 - 1EBH(BEX) 36 HEHE - BEREEX)
MD 2R MD 1R MD 2R
69 Bl& - {£E#E(GIHK) 41 Bi5 - HFIREX) 1 =K - X GIHK)
VS VS VS
72 Kl - EBEGHEK) 44 HE - BBGEEX) 3or4
TBA 11:30
WD 2R MD 2R WD 2R
21 HE - $HARGEEKR) 5 =g - ZEH (FEX) 17 & - ik (GIdK)
VS VS VS
24 B2 - HEGIHKX) 8 BE - -BEUDbHIX) 190r20
MD 3R MD 3R MD 2R
9or 12 41or 44 65 Hrh - &2 (RX)
VS VS VS
130r16 450r 48 68 WA - f1mCREX)
MD 3R MD 3R MD 3R
170r20 330r36 1~4
VS VS VS
21or24 370r40 50r8
MD 3R W D QF
650r 68 170r19
VS VS
69or 72 20~24
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